Chapter 8. Polynomials

Ex. 8.2

Answer 1CU.
14503-8.2-1CU AID: 3575 | 10/11/2014

Consider the following product.
54x%y°
Monomial:
A monomial is a number or a variable or a product of a number and one or more variables.
And, an expression involving the division of variables is not a monomial.

To find two monomials whose product is the expression, 5412}:--‘. write this product as follows.

54x7y* =(2x z?)(xy}[rf}
=(20)(2797)

Therefore the expression 54x?y%is a product of two monomials |2xy,27xy* |-

Answer 1RM.
An example of a geometry term that uses one of the prefixes mono, bi, tri, and poly is trinomial.
A trinomial is a group of three monomials.
Monomial means a single term.
For example, take

3xt—2x+1

This is a trinomial, since it is a combination of three monomials 3x*, —2x.1.



Answer 2CU.
14503-8.2-2CU AID: 3575 | 10/11/2014

Consider the following expression.

Simplify this expression using negative exponents as follows.

315
L4 —(aﬂ(hj)[l!](%] Write as a product of fractions

a’h? a

=(a’}(h’)(a'*](b‘z} Use the negative exponent: g™ -l

"

i

=(a’-a?)(b*-b™) Group powers with the same base
(@))% gt e

=ab’

Therefore, the simplified form of the given expression is |45°|.

Answer 2RM.

Monomial is a single term.
(a)
Binomial is a combination of two monomials, that is, it is a combination of two terms.

For example.

2x+1

This is a binomial, since it is a combination of two monomials -2x,1.

(B)
A trinomial is a group of three monomials.
For example, take

3xt —2x+1

This is a trinomial, since it is a combination of three monomials 313.—2L|-



(c)

A polynomial is a group of more than one monomial (or) group of many monomials.
For example, take

8x° —4x* +3x% —2x+1

This is a polynomial, since it is a combination of five monomials 8x”, —4x%,3x%.-2x.1-

Answer 3CU.
Consider the following expression.

—4x*
X
When simplifying the expression, Jamal and Emily used the rule, Quotient of powers ”_=a'""“
aJT
correctly.

At the same time, Jamal written the constant term —4as it is in each simplified step, but Emily
has written as,

4=1
4

X
This is wrong, so the Jamal is correct to simplify the expression —4x .

Answer 3RM.
(a)
The prefix semi- means half.

We can use this prefix to measure the area and perimeter of a circle.

For example, a perimeter of a semi-circle of radius 3 is ;;r(3:|+ 2[3] =37+6.

Or, the area of a semi-circle of radius 3 is %;;[3]1 =gi_

2

(b)
The prefix hexa- means six.
We can use this prefix for a figure having six line segments.

That is for hexagon, it is a group of six sides.



(c)
The prefix octa- means eight.

We can use this prefix for a figure having eight line segments.

That is for octagon, it is a group of eight sides.

Answer 4CU.
Consider the following expression.

?5
-
To simplify this expression, use the quotient of powers, e g™ " as follows.
{.'.'n

?ﬂ
— =7 Put a=7T,m=8n=2

— 7% Simplify

Therefore,

-I—r;lt
?—z=

?f.l

Answer 5CU.
Consider the following expression.
IH_}"IE
Xy

Simplify this expression as follows.

B_12 H] 12
udl 4 =(I_J(f“—) Group powers that have the same base

2 ool 2 7

Xy LVAND 4

ar

a e

m

=(x*?)(»"") Use quotient of powers, -

= _xﬁ_}.rS Simplify

Therefore, the simplified form of the given expression is,

g 12
Xy [s. s
;;—I}"
Y




Answer 6CU.
Consider the following expression.

3
2¢°d
72*
Simplify this expression as follows.

()G =%

72 ) (Tzzf

2() &
=—_.'i IJze (ﬂb}m =a’"bm

?(7)

Therefore, the simplified form of the given expression is,

203d Y _[8’a
7z 343z°

Answer 7CU.
Consider the following expression.

0 5 &
¥ () )
Simplify this expression as follows.

V7)) =1(00)(v7) Use o =1

"

= (ys}[%] Use the negative exponent: g™ = 1

v a
:.'}.i
y'l
= y**? Use Quotient of powers a _g"n
ai.l'

|
= — Use the negative exponent: 4" = 10
y a”

Therefore, the simplified form of the given expression is,

P 0))= 55




Answer 8CU.
Consider the following expression.
13°
Simplify this expression as follows.

1372 = é Use the negative exponent: g™ =

a

| .
= —— Write 2 _
169 13° =169

Therefore, the simplified form of the given expression is,

137 =|—
169

Answer 9CU.
Consider the following expression.

C—S
d:i g ]

Simplify this expression as follows.
-5
¢ ooy 1
d:g-s'(c )[?)[?]

1 : R
=[_5J(—} T Use the negative exponent: g™ = —

¢ 5 a
()7 )e)
= g

c’d’

Therefore, the simplified form of the given expression is,

-5 8

c | B
ng-s - Cidi




Answer 10CU.
Consider the following expression.

Simplify this expression as follows.

_ 7 - 7
g =[_5][£][q—] Group powers with the same base

10p%* L 10 g
f"_l'\ 4R ﬂm
-6 2 ; =
= —|(p"*)(g") Use Quotient of powers £_ = g~
D) -
(1Y, -
== (p‘ )(q“) Simplify
., r
r"_l"u 1 |
=== [q*} Use the negative exponent: g " = —
L2 J/\p a’
Therefore, the simplified form of the given expression is,
-5pq’ _|—4"
lﬂpﬁq:‘f zp‘l

Answer 11CU.
Consider the following expression.

(o)
()’

Simplify this expression as follows.
(@) @)
(@) (@) (@)
N e

s (ab)" =a"b"

:(L_a]( ] Group powers with the same base

=(c3"'3})[d'6"["3}) Use Quotient of powers §=am-ﬂ

o
= M g™ Simplify

Therefore, the simplified form of the given expression is,



Answer 12CU.
Consider the following expression.

0
(4m'3n5}
mn
Simplify this expression as follows.

(4m'3‘n5 }n - 1

Use 5% =1

mn mn

Therefore, the simplified form of the given expression is,

(4!?‘]_3!?5 }u |

mn LT

Answer 13CU.
The volume of the cylinder with radius r and height h is,

ar’h
And, the volume of the sphere with radius r is,

—

3
Then, the ratio of the volume of the cylinder to volume of the sphere is,

ar’h Arh

4 4 s,
—ar’ = fgr
3 3;{

a2
o k. (r—][h} Group powers with the same base

i
4\ r

i T .
=2 () (k) Use Quotient of powers a g
\.4)] an

(3, _
= :J[P I)(h]
Y,
(33 1 . |
4 [_J[;’} Use the negative exponent. g™ = —
L4 S\ r a’
3h

e




Answer 14PA.
Consider the following expression.

4"

42
Simplify this expression as follows.

4" a"

~_ = 4" Use quotient of powers, =_ = g™

42 aﬂ'

— 4" Simplify
Therefore, the simplified form of the given expression is,
ﬂ_ 4]|:|

4

Answer 15PA.
Consider the following expression.

ol

3_1
Simplify this expression as follows.

3I."| a.ur
_1=3'3‘“ Use quotient of powers, — = "™
3 a

= 3* Simplify

Therefore, the simplified form of the given expression is,
3I3 2
37 =
Answer 16PA.
Consider the following expression.
P?’Hl

p4"1

Simplify this expression as follows.

T.A T 3
P ”1 =(p—)[n—2) Group powers with the same base

p' )\ n

=(:p”)(n""3) Use Quotient of powers a’ _ a™ "

a.rl‘
=(_u3)(n') Simplify
= piﬂ

Therefore, the simplified form of the given expression is,

|
pdﬂ'z =|p'n
pn




Answer 17PA.
Consider the following expression.

y]-z':i
2

¥z
Simplify this expression as follows.

-

i % 3 4
Y zz =[*"}—][z—qj Group powers with the same base
Yz ¥y

= (f“ ][z”] Use Quotient of powers ”_T: =g

o
=[f][z*] Simplify
=yzz?

Therefore, the simplified form of the given expression is,

10
Yz [ 27

v 22

Answer 18PA.
Consider the following expression.

F]
5b'n
2a°
Simplify this expression as follows.

(-G )%

2a° ( 24 ]2 b h"

Therefore, the simplified form of the given expression is,

sh*n Y _[2s6t?
24° 4"




Answer 19PA.
Consider the following expression.

Y
)
Simplify this expression as follows.
[Em? ]‘= (3""'?)‘ Use [ET: i
4-"5,}’3 [4.}:5_}!3)4 b b"
3"(m"'r)4 .
_Q Use( ] =ag™

44 I2EI 12

Ih

81m™ o
=——— Simplify
256x"y"

Therefore, the simplified form of the given expression is,
‘ il
3m’ | | 8lm™
ax’y’ ) |256x7p"
Answer 20PA.

Consider the following expression.

=2
104"

Simplify this expression as follows.

—2a [_2][ J Group powers with the same base

10a° \ 10
f_l'\ am

=| — |(a**) Use Quotient of powers Z_ = g
' a’
F_-I'\

() use ey e

i A
_(! (ij] Use the negative exponent: g™ 1
L5 Na 3

_ =1
Sa

Therefore, the simplified form of the given expression is,

(=]

“2a _| -1
10"  |54°




Answer 21PA.
Consider the following expression.

156
455
Simplify this expression as follows.
i
E ]5][ 4 } Group powers with the same base
45h" | 45 )\ b’
" A
- % (b"5) Use Quotient of powers 9 = gm
aﬂ

h Simplify

1
5)e)
][b—li] Use the negative exponent: g™ = —

3.‘1*

Therefore, the simplified form of the given expression is,

156 |1
456° |30

Answer 22PA.
Consider the following expression.

x’yﬂxJ
Simplify this expression as follows.

2y = [x’x'? ) »" Group powers with the same base

=[:x3"}y” Use product of powers. 4.4 " = g™"

=(x7)(1) Use ° =

= L‘ Use the negative exponent: g™ = L

x a

Therefore, the simplified form of the given expression is,

Oy =l
X




Answer 23PA.
Consider the following expression.

w (7))
Simplify this expression as follows.

Hl(p4}(n'5)=(nzn'5}[:;;a"] Group powers with the same base

:{n""‘ [p“) Use product of powers: g".q4" = ™"

i1

Therefore, the simplified form of the given expression is,

7 (0 () ===

Answer 24PA.
Consider the following expression.
ﬁ—!
Simplify this expression as follows.

6° =é Use the negative exponent. g™ = L

an‘
=L Simplify
36

Therefore, the simplified form of the given expression is,

6=l
36




Answer 25PA.
Consider the following expression.
5—3
Simplify this expression as follows.

57 =5i3 Use the negative exponent: g™ = Lﬂ

i

=L Use 5 =5.5.5(3times)
125

Therefore, the simplified form of the given expression is,

5% =|—

125

Answer 26PA.
Consider the following expression.

5

Simplify this expression as follows.

4y 1
[E] B (5 T Use the negative exponent. g™ = 3

e

&

4

[ 6
=5 Use [EJ _a

yE b b
=L

25 Simplify

16
16
T 25

Therefore, the simplified form of the given expression is,

5 -
5 25




Answer 27PA.
Consider the following expression.

3

Simplify this expression as follows.

3V
[E] :( ]3 Use the negative exponent: g™ = Lﬂ
o
3\ Use [EJ" . a"
1

[2?] Write 3* =3-3-3(3 times}:i?,,f =2-2-2(3 times) =8
8

=5
27

Therefore, the simplified form of the given expression is,

3 [
2 27
Answer 28PA.
Consider the following expression.

28a’¢™
Ta’b’c™®

Simplify this expression as follows.

7.4 7 A
28a'c [E)[“ ]( L ](‘_] Group powers with the same base

70 \ 7 N @ N\ )t

Eil)

é [JH)G](.—:‘““] Use Quotient of powers & — g™ 4% =1 420
X a.lr
=4(a")(c*) simplify

Therefore, the simplified form of the given expression is,

28a’¢™

Ta'b™ -

4g'c’




Answer 29PA.
Consider the following expression.

30h7kK"
Shk™
Simplify this expression as follows.

2504 -2 14
305iki :[%J[%)(%J Group powers with the same base

= "3% [h'*"](&”“‘”) Use Quotient of powers & gn-»

7
=(6)(n)(k'") simplify

"

= (ﬁ}[l}J[k”} Use the negative exponent: 4™ = 1
h a

E‘k'l'.l'

Therefore, the simplified form of the given expression is,

3007k |6k
Shk™ i

Answer 30PA.
Consider the following expression.

18x*y'z’
2x*yz
Simplify this expression as follows.

1_4.7 3 4 7
M - [E) :;_2 2 || = | Group powers with the same base
—2x"yz 2N0x )y )z

% | .
=—| = (x*'z)[:y"’)[z"'"} Use Quotient of powers ”" e
7 a
=-(9)(x')(»*)(z*) Simpiify
= 9xy*z8

Therefore, the simplified form of the given expression is,

18x%y*z"
—2x*yz

=[9xy°z°




Answer 31PA.
Consider the following expression.
—-19y°Z*
_3zlﬁ

Simplify this expression as follows.

! 0_4 _ .;-4
19}": :[ IQJ{F.})(.T&] Group powers with the same base
-3z -3 =
19 a”
=l 2 [[}(z“‘"’) Use Quotient of powers —_ =" " =1,a # 0
3 ) a
i At
= % (z*) simpify
%, A
(193 1 1
=] = [Tz] Use the negative exponent: g™ = —
L3 Nz a’

=

Therefore, the simplified form of the given expression is,

-19y"z* |19
-3z" 3"

Answer 32PA.
Consider the following expression.

(5)°
()
Simplify this expression as follows.
((5;‘2;: = ; |3]= X ? l_z)z Use the negative exponent: g™" =L,
r . "

1 I
B Rt

u]

I a
=24[,.a]x25(,_4] Use power of a power (af") =g™
_ 1 y 1
T24x25 ()

Group powers with the same base

I 1

H_I Ise am 'H" = g-rum

T 600

Therefore, the simplified form of the given expression is,

(Sr'z ]-1 o

(2r*)’ - | 600/




Answer 33PA.
Consider the following expression.

»q”
=]
(P'a*)
Simplify this expression as follows.

-4 -3 -4 -3
P9 P q
(Fq)) pra’ O (ab) =a¥’

o =3
=(P_5)[q—_] Group powers with the same base

P~ Na
=(p™*)(4™) Use Quotient of powers 9 _ gm-»
o
=(p')(g™") Simpiity
= {p}[l] Use the negative exponent: g™ =L"
L a

Therefore, the simplified form of the given expression is,
p-diq_; :
R
(P'q’)

Answer 34PA.
Consider the following expression.

e
y2
Pe

Simplify this expression as follows.

r—lrj o
[ - ] =] Use " =1fora+0
!

Therefore, the simplified form of the given expression is,

0
=2.5
Ft m
Answer 35PA.
Consider the TDIIDWng E}(DFESSiDﬂ.

4cd Y
b—: C'Jd_l

Simplify this expression as follows.

[ 4c70d

bitd™!

L]
] =] Use g =1fora=0

Therefore, the simplified form of the given expression is,

4cd Y =[1



Answer 36PA.
Consider the following expression.

SEEA Y
2

Simplify this expression as follows.

o
shnt) |
227 | T 5p2,t Use the negative exponent: 47" = —

il

3 il
niz™

£y z
- % {%][”T)(z}} Group powers with the same base
\ S

n
(1) a"
=| = (bz}{n?‘_‘)(z':"] Use Quotient of powers £_ = g
kj.a’ a
(1Y, aaf 1 . 1
=| - [b }{n‘ ] — | Use the negative exponent. g™ = —
5 z* a
o
1) 1 1 1
=| - {bz}[_’J[_‘J Use the negative exponent: 5" = —
2 no\z a”
5n°z’

Therefore, the simplified form of the given expression is,

st | B2
[ ntz? J - 5n'z?




Answer 37PA.
Consider the following expression.

dathe Y
3ab’

Simplify this expression as follows.

ol

2 25 -1y
3ab 2a7be™ Use the negative exponent. g =—
[ 3ab™ ]
—
(Za'zb:‘:"')j Use [£]u=£
(3ab) i
 (3ab?)
(2abe)
_ 33ﬂ3 {b_z}ﬁ Use (ﬂ'b)" —a"b"
2 (@) P ()
FYa'b™

i g ey
2abc

3 -
NER R Group powers with the same base
23 a_-ﬁ b.! c'ﬁ-

il

:(E_JJ(H"E“‘}]{&“"E‘}(;-J) Use Quotient of powers & _ 4=

a"
27 9 | 3

(3 )

_27a°¢’
&b’

Therefore, the simplified form of the given expression is,

2abc 2747

3ab™ 8h”

Use power of a power (a"“ ]" =g™




Answer 38PA.

The area of a rectangle is,
A =24x"y" square units
And, the width of this rectangle is,
b =8x v units
Find the length of this rectangle as follows.
The area of a rectangle is,
A = (length)( width)
A=1b
Put the values of A and b in this equation, we get

24x°y’ =1(8x")7)

_ 24x%y’
315}’2

5 i
:(E [I_](P—] Group powers with the same base
I:'l J_rl

[ Divide both sides by §x*y?

aﬂl o

. {3][15‘3 ]{f‘z ] Use Quotient of powers

=(3)(x")(»")

=3xy

g

o

Therefore, the length of the rectangle is |3x? yunits




Answer 39PA.
The area of a triangle is,
A =100a’bsquare units
And, the base of this triangle is,
b = 20a units
Find the height of this triangle as follows.
The area of a rectangle is.
1 ’
A= E(base][helght]
1
A==bh
2
Put the values of A and b in this equation, we get

100a’h = %{Zﬂaz }h

100a'h =%[%ﬂ3]h

maﬂ::[m&]h

3
5 =1999b pivide both sides by |g?
104’
= (%J[i}(b) Group powers with the same base
e
= {]ﬂ][a"’)(h} Use Quotient of powers ""_T: =g"™"
&
=(10)(a)(b)
=10ab

Therefore, the height of the triangle is |10ab units




Answer 40PA.
The intensity of the sound heavy traffic is 1 watlts/square meter -
And, the intensity of the sound normal conversation is 10® walls/square meter

Let »be the number of times the sound heavy traffic is more intense than the sound normal
conversation.

Then, we have

107 =n(10)
n= 10~ Divide by 109-¢
10°
=10~1* Use Quatient of powers a _ g
a;r

=10

Therefore, the sound heavy traffic is ]{]3 times more intense than the sound normal

conversation.

Answer 41PA.
The intensity of the sound noisy kitchen is 107 waltls/square meter -
Let s be the intensity sound which is 10,000 times as loud as a noisy kitchen.

Then, we have

s =10,000x107

"

= ]ﬂ‘ﬂ[}ﬂx# Use the negative exponent. g™ = L
il

=lil],[Zl[.‘lEl=-cL
100

=100
=10°

From the table, we observe that the sound of the jet plane is 10,000 times as loud as a noisy
Kitchen.

1
]cor Divide by 100
|



Answer 42PA.

The intensity of the sound whisper is 10~ walls/square meter -
And, the intensity of the sound normal conversation is 1(° walts/square meter -

The ratio of intensity of the sound whisper to intensity of the sound normal conversation is,

-9 ar

10~ _ 109 Use Quotient of powers &_ = gm-»
10 a

=107

= % Use the negative exponent: g™ = Lﬂ

o

Therefore, the intensity of the sound whisper is |?times less than the intensity of the sound
normal conversation.

Answer 43PA.

The probability of tossing a coin 2 times and getting 2 heads is,
I 1 _[ | ]2
22 \2
In the same way, the probability of tossing a coin n times and getting n heads is,

I —

Answer 44PA.
The probability of tossing a coin n times and getting n heads is,

= o Write 17 =1
2]‘!

=2" Use the negative exponent: g™ = L,,
il

Therefore, the probability of tossing a coin n times and getting n heads in power of 2 is |3 ).




Answer 45PA.
Given that the range of the wavelengths of visible light is,

10 to 10 em
Now write the number 107,107 as follows.

10°% = # Use the negative exponent. g™ = Lﬂ

il

=
10°

Therefore, the range of the wavelengths of visible light in positive exponents is,

10

| |
107 to 10 em =|— to —cm
10° 10°

Answer 46PA.
Given that the range of X-rays of visible light is,

107 to 107 em
Now write the number 107,10~ as follows.

107 = % Use the negative exponent: 4" = Lﬂ

i

I
107 =—
10°

Therefore, the range of X-rays of visible light in positive exponents is,

107 to 10" em = LT to %cm
10 10

Answer 47PA.

Consider the following expression.

(@)

Simplify this expression as follows.

a"(a*)=a"a* Group powers with the same base

= " Use product of powers g™ ," = g™+

Therefore, the simplified form of the given expression is,

au (-ﬂ'j} - am}




Answer 48PA.

Consider the following expression.
(54;—3){52:#I}
Simplify this expression as follows.

(5“-3 ){5*’“*'): 5*-352 Group powers with the same base
= §¥-32x4l Use product of pOWers 44" = g"*"

= 5ﬁ.‘i =2

Therefore, the simplified form of the given expression is,

(54::—?— ] [52.!'+| ) = 5!51:—2

Answer 49PA.
Consider the following expression.

x+7

o

c,t—'i

Simplify this expression as follows.

x+7 e
C_‘t = 714 Use Quotient of powers 8 = a™ "
o a
- L‘“

Therefore, the simplified form of the given expression is,

7
g T
i—4 =lc

c




Answer 50PA.

Consider the following expression.

3 In-%
bi‘_u—]j

Simplify this expression as follows.

-9 2n-9
3":}{ 3 (3 b S|mpllfy the denominator
b
=(3)p™*") Use Quotient of powers £_ = "
o

- 3b2n-¢—3fr+‘i Siﬂ"lp”f}'
=3b"

= 3[{%] Use the negative exponent: g™ = Lﬂ
o

Therefore, the simplified form of the given expression is,

367 |3

p [

Answer 51PA.

We can compare pH levels by finding the ratio of one pH level to another in terms of the

pH
concentration cof hydrogen ions C:[l] :
10

For example:

To compare a pH of 9 with a pH of 1':' it is need to Slmpllﬁ-' the quntient of pOowWers as follows.
I Q
]_I:I _(L]q-lﬂ
| ] 10
10
Simplify

(&)

[ 1 ]' Use the negative exponent. g™ =L"
10

—
=1

o,

\-._.-"'

LR}
0

]

Therefore, the pH of 9 is 10 times more acidic than the pH of 10.



Answer 52PAQ.
Consider the following expression.

2?.2°
2*.27
Simplify this expression as follows.
1 A3 2+3
2" -2 = 2 Use product of powers. z™. 4" = g™"
2—2 '1_3 1—1—]
-
=2_5 Simplify
'R
= 2°-% Use Quotient of powers g a" "
.ﬂn
= ZIU
Therefore, the simplified form of the given expression is,
22 '25 - EIU
255

S0, the correct choice is (A).

Answer 23PA.

Consider the following pattern of numbers.

3’ =243,3' =81,3 =27,3" =9,-..
From this pattern, we observe that
The second number 81 is obtained by dividing the first number 243 by 3.
The third number 27 is obtained by dividing the second number 81 by 3.
The fourth number 9 is obtained by dividing the third number 27 by 3.
That is, each number is obtained by dividing the previous number by 3.
Therefore, we can complete the pattern as follows.

3’ =243,3" =81,3' =27,3" =9,3' =3,3" =1

S0. 3" =]



Answer 54MYS.
Consider the following expression.

(m'n)(mn’ )
Simplify this expression as follows.

(m'n)(mn*)=(m*m)(nn’) Group powers with the same base
=(m3”](nl+') Use product of powers g™ " = g"*"

— m*n® Simplify

Therefore, the simplified form of the given expression is,

(mjﬂ')(mﬂ:) = m"n‘l

Answer 55MYS.
Consider the following expression.

(35 )(4x'y)

Simplify this expression as follows.

(3x"y")(4x*y)=(3-4)(x"-x*)(»-»*) Group powers with the same base
=(12)(x**)(»"*) Use product of powers gugr = gm»

=12(x*)(y*) simplify

Therefore, the simplified form of the given expression is,

(3x‘y3](4xdy] =[12x*y*

Answer 56MYS.

Consider the following expression.

(a"2")
Simplify this expression as follows.
(asz ]d ={a3)4 (J:z)ﬂl Use (ab)" =a"b"

:(g'i}(;“] Use power of a power (a"“]‘ =a™

= g'2x* Simplify

Therefore, the simplified form of the given expression is,

4
(a.’-II] - a|zxa




Answer 57MYS.
Consider the following expression.

(3¢d*)

Simplify this expression as follows.

(3cd*) =3°¢*(d*) Use (abe) =a"be”
=9¢*(d") Use power of a power (g")" =a™

=9cdq" Simplity

Therefore, the simplified form of the given expression is,
2
(3cd”) =

Answer 58MYS.
Consider the following expression.

@]

Simplify this expression as follows.

[( 23)2]2 - [g*]z Use power of a power (a,,, ]" =q™

— 27 Use power of a power (a“]" —a™

Therefore, the simplified form of the given expression is,
[(23)2]1 _[>n

Answer 59MYS.

Consider the following expression.

(-3ab)’ (26}

Simplify this expression as follows.

(-3ab)’ (26°) =((-3y a3b3](22 (53]‘] Use (ab)’ = a"b"
=(-1Ta’b3)(4[b3]‘) Simplify

:(—1?;:3!:3)[4!:-") Use power of a power (a*")" =a™
:{—2?-4}.93(!:3 -b“) Group powers with the same base
=(~108)a* (5***) Use product of powers: g".g" = g™

=—108a4*h"

Therefore, the simplified form of the given expression is,

(3a8) (2} -



Answer 60MYS.
Consider that, oz of mozzarella cheese has 147 mg of calcium.

Then x oz of mozzarella cheese has 147x mg of calcium
Also, 0z of Swiss cheese has 219 mg of calcium.
Then y oz of Swiss cheese has 219y mg of calcium

It is given that we should take at least 1200 mg of calcium each day between the ages of 11
and 18.

Therefore,
147xmg+ 219 mg = 1200 mg
or
147x+ 219y = 1200
If we want to eat not more than 8 oz of cheese, then we have

x+y=8

The graph of the possible amounts of each type of cheese we can eat and still get our daily
requirement is shown below:

sty
7-/

Amount of 4.
Swiss cheese

3..

o 1 2 3 4 5 6 7 8
Amount of
mozzarella cheese




Answer 61MYS.
Consider that, oz of mozzarella cheese has 147 mg of calcium.

Then x oz of mozzarella cheese has 147xmg of calcium
Also, 0z of Swiss cheese has 219 mg of calcium.
Then y oz of Swiss cheese has 219y mg of calcium

It is given that we should take at least 1200 mqg of calcium each day between the ages of 11
and 18.

Therefore,
147xmg+ 219y mg = 1200 mg

Or
147x+ 219y = 1200

If we want to eat not more than & oz of cheese, then we have
x+y=§

The graph of the possible amounts of each type of cheese we can eat and still get our daily
requirement is shown below:

sty
?-/

54
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We can find the possible solutions satisfying 147x+ 219y 21200 as follows.

Three possible solutions (x, y):
1. Put x=3,y=4in 147x+219y>1200. we have 147(3)+219(4)=1317. true
2. Put x=4,y=3in 147x+219y21200. we have 147(4)+219(3)=1245. true

3. Put x=5,y=3in 147x+219y>1200. we have 147(5)+219(3)21392, true

Therefore, the possible solutions are |(3,4),(4,3),(5,3)

Answer 62MYS.
Consider that the slope of a line is 1, and its y-intercept is —4.
The equation of a line whose slope a and y-intercept b is,
v=ax+b
Put g=1,b=—4in this equation.
y=x—4

Therefore, the equation of the required line is,

y=x-4

Answer 63MYS.
Consider that the slope of a line is _2, and its y-intercept is 3.
The equation of a line whose slope a and y-intercept b is,
y=ax+b
Put g=-=2,b=13in this equation.
y==2x+3

Therefore, the equation of the required line is.

y==2x+3




Answer 64MYS.

Consider that the slope of a line is _%, and its y-intercept is —q.

The equation of a line whose slope a and y-intercept b is,

v=ax+bh
Put g= —%,b = —1in this equation.

——lx—l
¥ 3

Therefore, the equation of the required line is,

y-—lx—l
3

Answer 65MYS.

Consider that the slope of a ling is %_. and its y-interceptis 2.

The equation of a line whose slope a and y-intercept b is,

y=ax+b

Put g= %,b = 2in this equation.

3
=—x+2
d 2

Therefore, the equation of the required line is,

3
=—x+2
"2

Answer 66MYS.

Consider the following equation.
2y=x+10

To find x-intercept, put y = Qin this equation.
O0=x+10
x=-10

Therefore, the x-intercept is (-10, El)_

To find y-intercept, put x = (in this equation.
2y=10

y=35

Therefore, the y-intercept is [D,S]_



The graph of the equation 2y = x+10can be obtained by joining its intercepis [—l{lﬂ}. and
(0,5)

Answer 67MYS.

Consider the following equation.

4x-y=12
To find x-intercept, put y = 0in this equation.
4x-0=12

x=3

Therefore, the x-intercept is [3*[]'}.
To find y-intercept, put y = (in this equation.
4(0)-y=12
y=-12
Therefore, the y-intercept is (0,-12).



The graph of the equation 4x— y =12can be obtained by joining its intercepts [3*1}). and
(0,-12).

N X
e # ¢ f § § § =i
o 1 2 4 5 6 7 8 9 10

14 50)

24

o1 4x—y=12

Answer 68MYS.
Consider the following equation.
2x=T7T-3y

To find x-intercept, put y = 0in this equation.

2x=7-3(0)
7
xX=—
2

Therefore, the x-intercept is [E,[}].
2

To find y-intercept, put y = (in this equation.

2(0)=7-3y
,1—1
Y73

Therefore, the y-intercept is [ﬂ,%].



The graph of the equation 2x =7 -3y can be obtained by joining its intercepts [%J}]. and

Answer 69MYS.

Consider the following square root.

+/121

To simplify this square root, write this as follows.

+ 121=i||||3 Write Izlzllz
]

=x(11°)

-4 1:-; Use power of a power (a"' ]" = g™

==+11
=+11

Therefore, +.121=



Answer 70MYS.

Consider the following square root.

3.24

To simplify this square root, write this as follows.

J3.24 =(1.8) Write 324 =(1.8)
=((18)°)

(I.E]E'; Use power of a power (aﬂ*]“ =g™

=(1.8)’
=18
Therefore, 324 =

Answer 71MYS.

Consider the following square root.

~J52

To simplify this square root, write this as follows.
52 =-/13-4 Write 52=13x4

=—\13.2

= J13x2* Use Jab =ab

=-J13x2

=-213
=-=7.211102551
=-7.21

Therefore, —\/52 =



Answer 72MYS.

Consider the following product of two numbers.
10 x10°
To write this product as . simplify this product as follows.

10° x10* =10*** Use product of powers. ™. " = g™"

=10°

Therefore, 102 x10° =10°

Answer 73MYS.

Consider the following product of two numbers.
10°%%10°
To write this product as g . simplify this product as follows.

1078 x10°° =107%1%) Use product of powers: g.q" = g™"

- lﬂ_”

Therefore, 108 %107 =[107"

Answer 74MYS.
Consider the fﬂllnwing pdeLlI:t of two numbers.
10°° % 10"
To write this product as " . simplify this product as follows.

107 %10° =107%* Use product of powers. ,.4" = g™"

=10°

Therefore, 19°%x10° =

0

Answer 75MYS.

Consider the following product of two numbers.
10% %10
To write this product as g~ . simplify this product as follows.

10% 107" =105 Use product of powers. 7. 4" = g™

=10’

Therefore, 108 10" =[107




Answer 76 MYS.
Consider the following product of two numbers.
10* x107
To write this product as g . simplify this product as follows.

10 %107 =10%* Use product of powers: 7. 4" = g™

=10"

Therefore, 10°x10™* =|10"

Answer 77MYS.

Consider the following product of two numbers.

1072 %10

To write this product as |, simplify this product as follows.

ID—II %" lﬂl = 10"2” US-E prﬂdl..l[:t Df DDWEFSZ aﬂ .a" — a"“”

=lﬂ_”

Therefore, 1072 x10=|107"






